A NOTE ON CENTRAL FACTORIAL NUMBERS

TAEKYUN KIM

ABSTRACT. In this paper, we study the central factorial numbers of the second kind. In particular, we derive some identities and recurrence relations arising from the generating function. In addition, we will give some applications related to special polynomials and numbers.

1. Introduction

For $n \in \mathbb{N} \cup \{0\}$, it is well known that the stirling number of the first kind is defined by

$$(x)_n = x(x-1)\cdots(x-n+1) = \sum_{l=0}^n S_1(n,l)x^l, \quad (see[4,5,6,13,16]).$$
 (1.1)

Note that

$$S_1(n+1,k) = S_1(n,k-1) - nS_1(n,k), \quad (1 \le k \le n). \tag{1.2}$$

From (1.1), we can derive the following generating function to be

$$\frac{1}{k!} \left(\log(1+t) \right)^k = \sum_{n=k}^{\infty} S_1(n,k) \frac{t^n}{n!}, \quad (see[7,8,9,10,11]). \tag{1.3}$$

The stirling number of the second kind is defined as

$$x^{n} = \sum_{l=0}^{n} S_{2}(n, l)(x)_{l}, \quad (n \in \mathbb{N} \cup \{0\}).$$
(1.4)

By (1.4), we easily get

$$\frac{1}{k!}(e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}, \quad (k \in \mathbb{N} \cup \{0\}), \quad (see[4, 6, 7, 8, 9]). \tag{1.5}$$

¹⁹⁹¹ Mathematics Subject Classification. 11B68.

The central factorial $x^{[n]}$ is defined by

$$x^{[n]} = x(x + \frac{n}{2} - 1)(x + \frac{n}{2} - 2) \cdots (x - \frac{n}{2} + 1)$$

$$= x \cdot (x + \frac{n}{2} - 1)_{n-1}, \quad (n \ge 1), \quad (see[1, 2, 3, 4, 15]).$$
(1.6)

It is known that, for all nonnegative integer n and k ($k \leq n$), the central factorial number t(n,k) of the first kind is defined by

$$x^{[n]} = \sum_{k=0}^{n} t(n,k)x^{k}, \quad (see[4,5,12,14,15]). \tag{1.7}$$

Thus, we have

$$\sum_{k=0}^{n} t(n,k)x^{k} = x^{[n]} = x\left(x + \frac{n}{2} - 1\right)\left(x + \frac{n}{2} - 2\right)\cdots\left(x - \frac{n}{2} + 2\right)\left(x - \frac{n}{2} + 1\right)$$

$$= x\left(x + \frac{n-2}{2}\right)\left(x + \frac{n-2}{2} - 1\right)\cdots\left(x - \frac{n-2}{2} + 1\right)\left(x - \frac{n-2}{2}\right)$$

$$= x\left(x + \frac{n-2}{2} - 1\right)\cdots\left(x - \frac{n-2}{2} + 1\right)\left(x^{2} - \left(\frac{n-2}{2}\right)^{2}\right)$$

$$= \sum_{k=0}^{n-2} t(n-2,k)x^{k}\left(x^{2} - \frac{(n-2)^{2}}{4}\right)$$

$$= \sum_{k=0}^{n} \left\{t(n-2,k-2) - \frac{1}{4}(n-2)^{2}t(n-2,k)\right\}x^{k},$$
(1.8)

where $n \in \mathbb{N}$ with $n \geq 2$.

By (1.8), we easily get

$$t(n,k) = t(n-2,k-2) - \frac{1}{4}(n-2)^2 t(n-2,k), \quad (n \ge 2), \quad (see[3,4]). \tag{1.9}$$

It is not difficult to show that the generating function of the central number of the first kind is given by

$$\frac{1}{k!} \left(2\log\left(\frac{t}{2} + \sqrt{1 + \frac{t^2}{4}}\right) \right)^k = \sum_{n=k}^{\infty} t(n, k) \frac{t^n}{n!}, \quad (see[17, 18]), \tag{1.10}$$

where $t \in \mathbb{C}$ with |t| < 1.

From (1.9), we note that

$$t(2n,1) = 0$$
 and $t(2n+1,1) = (-1)^n \frac{(2n)!}{2^{4n}(n!)^2}$. (1.11)

On the other hand.

$$x^{[2n]} = x(x+n-1)(x+n-2)\cdots x(x+1)\cdots(x-1)\cdots(x-n+1)$$

= $x^2(x^2-(n-1)^2)(x^2-(n-2)^2)\cdots(x^2-2^2)(x^2-1^2).$ (1.12)

Thus, by (1.12), we get

$$(x^{2}-1^{2})(x^{2}-2^{2})\cdots(x^{2}-(n-1)^{2}) = \sum_{k=1}^{2n} t(2n,2k)x^{2k-2}, \quad (n \in \mathbb{N}). \quad (1.13)$$

For all nonnegative integers $n, k \ (k \leq n)$, central factorial numbers of the second kind are defined by the coefficients in the expansion

$$x^{n} = \sum_{k=0}^{n} T(n,k)x^{[k]}, \quad (see[4,14]). \tag{1.14}$$

Note that

$$x^{n} = x^{2}x^{n-2} = x^{2} \sum_{k=0}^{n-2} T(n-2,k)x^{[k]}$$

$$= \sum_{k=0}^{n-2} T(n-2,k)x^{[k]} \left(x^{2} - \frac{k^{2}}{4} + \frac{k^{2}}{4}\right)$$

$$= \sum_{k=0}^{n-2} T(n-2,k)x^{[k]} \left(x^{2} - \frac{k^{2}}{4}\right) + \frac{1}{4} \sum_{k=0}^{n-2} k^{2}T(n-2,k)x^{[k]}$$

$$= \sum_{k=0}^{n-2} T(n-2,k)x^{[k+2]} + \frac{1}{4} \sum_{k=0}^{n-2} k^{2}T(n-2,k)x^{[k]}$$

$$= \sum_{k=0}^{n} T(n-2,k-2)x^{[k]} + \sum_{k=0}^{n-2} \frac{k^{2}}{4}T(n-2,k)x^{[k]}$$

$$= \sum_{k=0}^{n} \left\{ T(n-2,k-2) + \frac{k^{2}}{4}T(n-2,k) \right\} x^{[k]}.$$
(1.15)

By (1.14) and (1.15), we easily get

$$T(n,k) = T(n-2,k-2) + \frac{k^2}{4}T(n-2,k), \quad (n,k \ge 2).$$
 (1.16)

From (1.6), we note that the central factorial $x^{[n]}$ is associated sheffer sequence which is given by

$$x^{[n]} \sim (1, 2\sinh 2t), \quad (n \ge 0), \quad (see[15]).$$
 (1.17)

Thus, by (1.10),(1.17), we get

$$\sum_{n=0}^{\infty} x^{[n]} \frac{t^n}{n!} = e^{x \left(2\log\left(\frac{t}{2} + \sqrt{1 + \frac{t^2}{4}}\right)\right)} = \left(\frac{t}{2} + \sqrt{1 + \frac{t^2}{4}}\right)^{2x}.$$
 (1.18)

It is well known that

$$\frac{x^{2k}}{(1-x^2)(1-(2x)^2)\cdots(1-(kx)^2)} = \sum_{n=0}^{\infty} T(2n,2k)x^{2n}, \quad (see[3,4]). \quad (1.19)$$

In this paper, we study some properties of central factorial numbers of the second kind. In particular, we derive some identities and recurrence relations arising from the generating function. In addition, we give some relations between the central numbers of the second kind and special numbers.

2. Central factorial numbers of the second kind

Let

$$\frac{x^{2k}}{(1-x^2)(1-(2x)^2)\cdots(1-(kx)^2)} = \sum_{l=0}^{k} \frac{A_l}{1-(lx)^2}.$$
 (2.1)

Then, by (2.1), we get

$$A_{l} = \frac{1}{l^{2}(l^{2} - 1^{2})(l^{2} - 2^{2})\cdots(l^{2} - (l - 1)^{2})(l^{2} - (l + 1)^{2})\cdots(l^{2} - k^{2})}$$

$$= \prod_{i=1, i\neq l}^{k} \left(\frac{1}{l^{2} - i^{2}}\right) \frac{1}{l^{2}}, \quad (k \in \mathbb{N}).$$

From (1.19) and (2.1), we note that

$$\sum_{n=0}^{\infty} T(2n, 2k) x^{2n} = \sum_{l=0}^{k} \frac{1}{1 - (lx)^2} \prod_{i=1, i \neq l}^{k} \left(\frac{1}{l^2 - i^2}\right) \frac{1}{l^2}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{k} l^{2n-2} \left(\prod_{i=1, i \neq l}^{k} \left(\frac{1}{l^2 - i^2}\right)\right) x^{2n}.$$
(2.2)

Therefore, by comparing the coefficients on the both sides of (2.2), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$ and $k \geq 0$, we have.

$$T(2n,2k) = \sum_{l=0}^{k} l^{2n-2} \Big(\prod_{i=1, i \neq l}^{k} \Big(\frac{1}{l^2 - i^2} \Big).$$

Let

$$f(t) = 2\log\left(\frac{t}{2} + \sqrt{1 + \frac{t^2}{4}}\right).$$

Then the inverse function of f(t) is given by

$$f^{-1}(t) = e^{\frac{t}{2}} - e^{-\frac{t}{2}}.$$

We note that the generating function of the central factorial number of the second kind is the inverse function of the generating function of the central factorial number of the first kind which is given by

$$\frac{1}{k!} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}} \right)^k = \sum_{n=k}^{\infty} T(n,k) \frac{t^n}{n!}.$$
 (2.3)

From (2.3), we have

$$\sum_{n=k}^{\infty} T(n,k) \frac{t^n}{n!} = \frac{1}{k!} (e^{\frac{t}{2}} - e^{-\frac{t}{2}})^k = \frac{1}{k!} e^{-\frac{k}{2}t} (e^t - 1)^k$$

$$= \frac{1}{k!} \sum_{i=0}^k \binom{k}{i} (-1)^{k-i} e^{(i-\frac{k}{2})t}$$

$$= \sum_{n=0}^{\infty} \left(\frac{1}{k!} \sum_{i=0}^k \binom{k}{i} (-1)^{k-i} \left(i - \frac{k}{2}\right)^n\right) \frac{t^n}{n!}.$$
(2.4)

Thus, by (2.4), we have

$$T(n,k) = \frac{1}{k!} \sum_{i=0}^{k} {k \choose i} (-1)^{k-i} \left(i - \frac{k}{2}\right)^n, \quad (n,k \ge 0).$$
 (2.5)

Now, we observe that

$$\frac{1}{k!}e^{-\frac{k}{2}t}(e^{t}-1)^{k} = e^{-\frac{k}{2}t}\frac{1}{k!}(e^{t}-1)^{k}$$

$$= \left(\sum_{l=0}^{\infty} \left(-\frac{k}{2}\right)^{l}\frac{t^{l}}{l!}\right)\left(\sum_{m=k}^{\infty} S_{2}(m,k)\frac{t^{m}}{m!}\right)$$

$$= \sum_{n=k}^{\infty} \left(\sum_{m=k}^{n} S_{2}(m,k)(-1)^{n-m}\left(\frac{k}{2}\right)^{n-m}\binom{n}{m}\right)\frac{t^{n}}{n!}.$$
(2.6)

From (2.3) and (2.6), we have

$$T(n,k) = \sum_{m=k}^{n} \binom{n}{m} \left(-\frac{1}{2}\right)^{n-m} S_2(m,k) k^{n-m}$$

$$= \sum_{m=0}^{n-k} \binom{n}{m} \left(-\frac{1}{2}\right)^m S_2(n-m,k) k^m.$$
(2.7)

Therefore, by (2.6) and (2.7), we obtain the following theorem.

Theorem 2.2. For $n, k \geq 0$, we have

$$T(n,k) = \sum_{m=0}^{n-k} {n \choose m} \left(-\frac{1}{2}\right)^m S_2(n-m,k) k^m$$
$$= \frac{1}{k!} \sum_{i=0}^{k} {k \choose i} (-1)^{k-i} \left(i - \frac{k}{2}\right)^n.$$

It is well known that the following generating function of the stirling number of the second kind is given by

$$\frac{t^k}{(1-t)(1-2t)\cdots(1-kt)} = \frac{1}{k!} \sum_{l=0}^k \frac{1}{1-lt} \binom{k}{l} (-1)^{k-l}
= \sum_{n=0}^\infty \left(\frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} l^n\right) t^n
= \sum_{n=0}^\infty \left(\frac{1}{k!} \Delta^k 0^n\right) t^n = \sum_{n=k}^\infty S_2(n,k) t^n,$$
(2.8)

where Δ is difference operator with $\Delta f(x) = f(x+1) - f(x)$. Now, we observe that

$$\frac{(-1)^k t^{2k}}{(1-t^2)(1-(2t)^2)\cdots(1-(kt)^2)} = \frac{t^k \cdot (-t)^k}{(1-t)(1-2t)\cdots(1-kt)(1+t)(1+2t)\cdots(1+kt)} = \left(\sum_{l=0}^{\infty} S_2(l,k)t^l\right) \left(\sum_{j=0}^{\infty} S_2(j,k)(-1)^j t^j\right) = \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} S_2(l,k)S_2(n-l,k)(-1)^{n-l}\right) t^n.$$
(2.9)

Thus, by (2.9), we get

$$\frac{t^{2k}}{(1-t^2)(1-(2t)^2)\cdots(1-(kt)^2)} = \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} S_2(l,k)S_2(n-l,k)(-1)^{k-l}\right) t^n.$$
(2.10)

From (1.19) and (2.10), we note that

$$\sum_{n=0}^{\infty} T(2n, 2k)t^{2n} = \frac{t^{2k}}{(1-t^2)(1-(2t)^2)\cdots(1-(kt)^2)}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} S_2(l, k)S_2(n-l, k)(-1)^{k-l}\right)t^n$$

$$= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{2n} S_2(l, k)S_2(2n-l, k)(-1)^{k-l}\right)t^{2n}$$

$$+ \sum_{n=0}^{\infty} \left(\sum_{l=0}^{2n+1} S_2(l, k)S_2(2n+1-l, k)(-1)^{k-l}\right)t^{2n+1}.$$
(2.11)

Therefore, by comparing the coefficients on the both sides of (2.11), we obtain the following theorem.

Theorem 2.3. For $n, k \geq 0$, we have

$$\sum_{l=0}^{2n} S_2(2n-l,k)S_2(l,k)(-1)^{k-l} = T(2n,2k),$$

and

$$\sum_{l=0}^{2n+1} S_2(2n+1-l,k)S_2(l,k)(-1)^{k-l} = 0.$$

Now, we observe that

$$\frac{1}{k!}(e^{t}-1)^{k} = \frac{1}{k!}e^{\frac{k}{2}t}\left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^{k} = \left(\sum_{m=0}^{\infty} \frac{1}{m!} \left(\frac{k}{2}\right)^{m} t^{m}\right) \left(\sum_{l=k}^{\infty} T(l,k) \frac{t^{l}}{l!}\right) \\
= \sum_{n=k}^{\infty} \left(\sum_{l=k}^{n} \binom{n}{l} T(l,k) \left(\frac{k}{2}\right)^{n-l}\right) \frac{t^{n}}{n!}.$$
(2.12)

Therefore, by (1.5) and (2.12), we obtain the following theorem.

Theorem 2.4. For $n, k \geq 0$, we have

$$S_2(n,k) = \sum_{l=l}^n \binom{n}{l} \left(\frac{k}{2}\right)^{n-l} T(l,k).$$

From (2.3), we note that

$$\sum_{n=k}^{\infty} T(n,k) \frac{t^n}{n!} = \frac{1}{k!} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}} \right)^k = \frac{1}{k!} e^{-\frac{k}{2}t} \left(e^t - 1 \right)^k$$

$$= \left(\sum_{l=0}^{\infty} \left(-\frac{k}{2} \right)^l \frac{t^l}{l!} \right) \left(\sum_{i=k}^{\infty} S_2(i,k) \frac{t^i}{i!} \right)$$

$$= \sum_{n=k}^{\infty} \left(\sum_{i=k}^n \binom{n}{i} \left(-\frac{1}{2} \right)^{n-i} S_2(i,k) k^{n-i} \right) \frac{t^n}{n!}.$$
(2.13)

Therefore, by comparing the coefficients on the both sides of (2.13), we obtain the following theorem.

Theorem 2.5. For $n, k \geq 0$, we have

$$T(n,k) = \sum_{i=k}^{n} \binom{n}{i} \left(-\frac{1}{2}\right)^{n-i} S_2(i,k) k^{n-i}$$
$$= \sum_{i=0}^{n-k} \binom{n}{i} (-1)^i \left(\frac{1}{2}\right)^i S_2(n-i,k) k^i.$$

The central difference operator δ is defined as

$$\delta f(x) = f(x + \frac{1}{2}) - f(x - \frac{1}{2}). \tag{2.14}$$

From (2.14), we note that

$$\delta^{2} f(x) = \delta(\delta f(x)) = \delta(f(x + \frac{1}{2}) - f(x - \frac{1}{2})) = f(x + 1) - f(x)$$
$$- f(x) + f(x - 1) = {2 \choose 2} f(x + 1) - {2 \choose 1} f(x) + {2 \choose 0} f(x - 1),$$

and

$$\delta^{3} f(x) = f(x + \frac{3}{2}) - f(x + \frac{1}{2}) - 2f(x + \frac{1}{2}) + 2f(x - \frac{1}{2}) + f(x - \frac{1}{2}) - f(x - \frac{3}{2})$$

$$= {3 \choose 3} f(x + \frac{3}{2}) - {3 \choose 2} f(x + \frac{1}{2}) + {3 \choose 1} f(x - \frac{1}{2}) - {3 \choose 0} f(x - \frac{3}{2}).$$

Continuing this process, we obtain

$$\delta^k f(x) = \sum_{l=0}^k \binom{k}{l} f(x+l-\frac{k}{2})(-1)^{k-l}.$$
 (2.15)

From (2.3), we note that

$$\sum_{n=k}^{\infty} T(n,k) \frac{t^n}{n!} = \frac{1}{k!} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}} \right)^k = \frac{1}{k!} e^{-\frac{k}{2}t} (e^t - 1)^k$$

$$= \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} e^{\left(l - \frac{k}{2}\right)t}$$

$$= \sum_{n=0}^{\infty} \left(\frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \left(l - \frac{k}{2}\right)^n \right) \frac{t^n}{n!}.$$
(2.16)

Let us take $f(x) = x^n$, $(n \ge 0)$. Then, by (2.15), we get

$$\delta^k 0^n = \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \left(l - \frac{k}{2}\right)^n, \quad (n, k \ge 0).$$
 (2.17)

From (2.16) and (2.17), we have

$$\sum_{n=k}^{\infty} T(n,k) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\frac{1}{k!} \delta^k 0^n \right) \frac{t^n}{n!}.$$
 (2.18)

Thus, by comparing the coefficients on the both sides of (2.18), we obtain the following theorem.

Theorem 2.6. For n, k > 0, we have

$$\frac{1}{k!}\delta^k 0^n = \left\{ \begin{array}{ll} T(n,k), & \text{if } n \geq k, \\ 0, & \text{if } k > n. \end{array} \right.$$

Now, we define the central polynomials of the second kind which are given by the generating function to be

$$\frac{1}{k!}e^{xt}\left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^k = \sum_{n=k}^{\infty} T(n,k|x)\frac{t^n}{n!}.$$
 (2.19)

Note that

$$\frac{1}{k!}e^{xt}\left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^k = \frac{1}{k!}\left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^k e^{xt} = \left(\sum_{l=k}^{\infty} T(l,k) \frac{t^l}{l!}\right) \left(\sum_{m=0}^{\infty} x^m \frac{t^m}{m!}\right) \\
= \sum_{n=k}^{\infty} \left\{\sum_{l=k}^{n} \binom{n}{l} T(l,k) x^{n-l}\right\} \frac{t^n}{n!}.$$
(2.20)

Thus, by (2.19) and (2.20), we get

$$T(n,k|x) = \sum_{l=-k}^{n} \binom{n}{l} T(l,k) x^{n-l} \quad (n,k \ge 0).$$
 (2.21)

When x = 0, we get T(n, k|0) = T(n, k).

From (2.19), we have

$$\frac{1}{k!}e^{xt}\left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^k = \frac{1}{k!}e^{\left(x - \frac{k}{2}\right)t}(e^t - 1)^k
= \frac{1}{k!}e^{\left(x - \frac{k}{2}\right)t}\sum_{l=0}^k \binom{k}{l}(-1)^{k-l}e^{lt} = \frac{1}{k!}\sum_{l=0}^k \binom{k}{l}(-1)^{k-l}e^{\left(x - \frac{k}{2} + l\right)t}
= \sum_{n=0}^\infty \left(\frac{1}{k!}\sum_{l=0}^k \binom{k}{l}(-1)^{k-l}\left(x - \frac{k}{2} + l\right)^n\right)\frac{t^n}{n!} = \sum_{n=0}^\infty \left(\frac{1}{k!}\delta^k x^n\right)\frac{t^n}{n!}.$$
(2.22)

Therefore, by (2.19) and (2.22), we obtain the following theorem.

Theorem 2.7. For $n, k \geq 0$, we have

$$\frac{1}{k!}\delta^k x^n = \begin{cases} T(n,k|x), & \text{if } n \ge k, \\ 0, & \text{if } k > n. \end{cases}$$

Now, we observe that

$$\delta^{k}x^{n+1} = \sum_{l=0}^{k} {k \choose l} (-1)^{k-l} \left(x - \frac{k}{2} + l\right)^{n+1}$$

$$= \sum_{l=0}^{k} {k \choose l} (-1)^{k-l} \left(x - \frac{k}{2} + l\right)^{n} \left(x - \frac{k}{2} + l\right)$$

$$= \left(x - \frac{k}{2}\right) \sum_{l=0}^{k} {k \choose l} (-1)^{k-l} \left(x - \frac{k}{2} + l\right)^{n}$$

$$+ \sum_{l=0}^{k} {k \choose l} (-1)^{k-l} l \left(x - \frac{k}{2} + l\right)^{n}$$

$$= \left(x - \frac{k}{2}\right) \delta^{k}x^{n} + k \sum_{l=1}^{k} {k-1 \choose l-1} (-1)^{k-l} \left(x - \frac{k}{2} + l\right)^{n}$$

$$= \left(x - \frac{k}{2}\right) \delta^{k}x^{n} + k \sum_{l=0}^{k} \left\{ {k \choose l} - {k-1 \choose l} \right\} (-1)^{k-l} \left(x - \frac{k}{2} + l\right)^{n}$$

$$= \left(x - \frac{k}{2}\right) \delta^{k}x^{n} + k (\delta^{k}x^{n} + \delta^{k-1}x^{n}).$$

$$(2.23)$$

From (2.23), we note that

$$\delta^k x^{n+1} = \left(x - \frac{k}{2}\right) \delta^k x^n + k(\delta^k x^n + \delta^{k-1} x^n). \tag{2.24}$$

For $n \geq k$, by **Theorem 2.7**, we get

$$T(n+1,k|x) = \frac{1}{k!} \delta^k x^{n+1} = \frac{1}{k!} \left\{ \left(x - \frac{k}{2} \right) \delta^k x^n + k (\delta^k x^n + \delta^{k-1} x^n) \right\}$$

$$= \left(x - \frac{k}{2} \right) \frac{1}{k!} \delta^k x^n + k \frac{1}{k!} \delta^k x^n + \frac{1}{(k-1)!} \delta^{k-1} x^n$$

$$= \left(x - \frac{k}{2} \right) T(n,k|x) + k T(n,k|x) + T(n,k-1|x),$$
(2.25)

where $n, k \in \mathbb{N}$ with $n \geq k$.

Therefore, by (2.25), we obtain the following theorem.

Theorem 2.8. For $n, k \in \mathbb{N}$ with $n \geq k$, we have

$$T(n+1,k|x) = (x + \frac{k}{2})T(n,k|x) + T(n,k-1|x)$$

Corollary 2.9. For $n, k \in \mathbb{N}$ with $n \geq k$, we have

$$T(n+1,k) = \frac{k}{2}T(n,k) + T(n,k-1).$$

3. Further Remark

As is known, the Euler polynomials are defined by the generating function to be

$$\frac{2}{e^t + 1}e^{xt} = \sum_{n=0}^{\infty} E_n(x)\frac{t^n}{n!}.$$
(3.1)

Now, we observe that

$$\frac{2}{e^t + 1} = \left(\frac{e^t - 1}{2} + 1\right)^{-1} = \sum_{l=0}^{\infty} \frac{e^{\frac{lt}{2}} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^l}{2^l} (-1)^l.$$
 (3.2)

By (3.1) and (3.2), we get

$$\sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} = \sum_{l=0}^{\infty} \left(-\frac{1}{2} \right)^l l! e^{\left(\frac{l}{2} + x\right)t} \frac{1}{l!} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}} \right)^l$$

$$= \sum_{l=0}^{\infty} \left(-\frac{1}{2} \right)^l l! \sum_{n=l}^{\infty} T(n, l) \frac{l}{2} + x \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} \left(-\frac{1}{2} \right)^l l! T(n, l) \frac{l}{2} + x \right) \frac{t^n}{n!}.$$

Therefore, we obtain the following theorem.

Theorem 3.1. For $n \geq 0$, we have

$$E_n(x) = \sum_{l=0}^{n} \left(-\frac{1}{2}\right)^l l! T(n, l|\frac{l}{2} + x).$$

For $r \in \mathbb{N}$, the higher-order Euler polynomials are given by the generating function to be

$$\left(\frac{2}{e^t + 1}\right)^r e^{xt} = \sum_{n=0}^{\infty} E_n^{(r)}(x) \frac{t^n}{n!}.$$
(3.3)

On the other hand,

$$\left(\frac{2}{e^t+1}\right)^r = \left(\frac{e^t-1}{2}+1\right)^{-r} = \sum_{l=0}^{\infty} {r+l-1 \choose l} (-1)^l \left(\frac{1}{2}\right)^l (e^t-1)^l
= \sum_{l=0}^{\infty} {l+r-1 \choose l} \left(-\frac{1}{2}\right)^l e^{\frac{l}{2}t} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^l.$$
(3.4)

From (3.3) and (3.4), we note that

$$\sum_{n=0}^{\infty} E_n^{(r)}(x) \frac{t^n}{n!} = \left(\frac{e^t - 1}{2} + 1\right)^{-r}$$

$$= \sum_{l=0}^{\infty} \binom{l+r-1}{l} \left(-\frac{1}{2}\right)^l e^{\left(\frac{l}{2} + x\right)t} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^l$$

$$= \sum_{l=0}^{\infty} \binom{l+r-1}{l} \left(-\frac{1}{2}\right)^l \sum_{n=l}^{\infty} l! T(n, l| \frac{l}{2} + x) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} \binom{l+r-1}{l} \left(-\frac{1}{2}\right)^l l! T(n, l| \frac{l}{2} + x)\right) \frac{t^n}{n!}.$$
(3.5)

Therefore, by comparing the coefficients on the both sides of (3.5), we obtain the following theorem.

Theorem 3.2. For $r \in \mathbb{N}$ and $n \geq 0$, we have

$$E_n^{(r)}(x) = \sum_{l=0}^n \binom{l+r-1}{l} \left(-\frac{1}{2}\right)^l l! T(n, l|\frac{l}{2} + x).$$

By (2.3), we get

$$\sum_{n=2k}^{\infty} T(n,2k) \frac{t^n}{n!} = \frac{1}{(2k)!} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}} \right)^{2k} = \frac{1}{(2k)!} \left(e^t + e^{-t} - 2 \right)^k$$

$$= \frac{1}{(2k)!} \sum_{l=0}^{k} \binom{k}{l} (e^t - 1)^l (e^{-t} - 1)^{k-l}$$

$$= \frac{k!}{(2k)!} \sum_{l=0}^{k} \frac{1}{l!} (e^t - 1)^l \frac{1}{(k-l)!} (e^{-t} - 1)^{k-l}.$$
(3.6)

From (1.5), we note that

$$\frac{1}{l!}(e^{t}-1)^{l}\frac{1}{(k-l)!}(e^{-t}-1)^{k-l} = \sum_{n=k}^{\infty} \left(\sum_{i=l}^{n} \binom{n}{i} S_{2}(i,l) \times S_{2}(n-i,k-l)(-1)^{n-i}\right) \frac{t^{n}}{n!}.$$
(3.7)

By (3.6) and (3.7), we get

$$\sum_{n=2k}^{\infty} T(n,2k) \frac{t^n}{n!} = \frac{1}{k! \binom{2k}{k}} \sum_{l=0}^{k} \sum_{n=k}^{\infty} \left(\sum_{i=l}^{n} \binom{n}{i} S_2(i,l) \right) \times S_2(n-i,k-l)(-1)^{n-i} \frac{t^n}{n!}$$

$$= \sum_{n=k}^{\infty} \left(\frac{1}{k! \binom{2k}{k}} \sum_{l=0}^{k} \sum_{i=l}^{n} \binom{n}{i} S_2(i,l) \right) \times S_2(n-i,k-l)(-1)^{n-i} \frac{t^n}{n!}.$$
(3.8)

By comparing the coefficients on the both sides of (3.8), we get

$$\sum_{l=0}^{k} \sum_{i=l}^{n} \binom{n}{i} S_2(i,l) S_2(n-i,k-l) (-1)^{n-i} = \begin{cases} k! \binom{2k}{k} T(n,2k), & \text{if } n \ge 2k, \\ 0, & \text{if } n < 2k. \end{cases}$$

References

- L. Carlitz, J. Riordan, The divided central differences of zero, Canad. J. Math. 15, 1963, 94-100.
- C.H. Chang, C.W. Ha, Central factorial numbers and values of Bernoulli and Euler polynomials at rationals, Numer Funct Anal Optim, 30(2009), no. 3-4, 214-226.
- 3. P.L. Butzer, M. Schmidt, E.L. Stark, L. Vogt, Central factorial numbers; their main properties and some applications, Numer Funct Anal Optim, 10(1989), 419-488.
- 4. L. Comtet, Advanced combinatorics: the art of finite and infinite expansions (translated from the French by J. W. Nienhuys) Dordrecht and Boston: Reidel; 1974.
- 5. C. Jordan, Calculus of Finite Differences, Chelsea, New York, 1960.

- D. S. Kim, T. Kim, A note on degenerate Eulerian numbers and polynomials, Adv. Stud. Contemp. Math. (Kyungshang) Vol. 27 (2017), No. 4, 431-440
- T. Kim, Y. Yao, D. S. Kim, G.W. Jang, Degenerate r -Stirling numbers and r -Bell polynomials, Russ. J. Math. Phys. 25 (2018), no. 1, 44-58.
- T. Kim, A note on degenerate Stirling polynomials of the second kind, Proc. Jangjeon Math. Soc. Vol. 20 (2017), No. 3, 319-331.
- 9. T. Kim, D. S. Kim, G.W. Jang, Extended Stirling polynomials of the second kind and extended Bell polynomials, Proc. Jangjeon Math. Soc. 20(2017), no. 3, 365-376.
- 10. T. Kim, Some identities on the q-Euler polynomials of higher order and q-Stirling numbers by the fermionic p-adic integral on \mathbb{Z}_p , Russ. J. Math. Phys. 16(2009), no. 4, 484-491.
- 11. T. Kim, D. S. Kim, L.-C. Jang, H.-I. Kwon, Extended degenerate Stirling numbers of the second kind and extended degenerate Bell polynomials, Util. Math. 106 (2018), 11-21.
- 12. E. Lucas, Theorie des Nombres, Gauthier-Villars, Paris, 1891.
- 13. S.-S. Pyo, Degenerate Cauchy numbers and polynomials of the fourth kind, Adv. Stud. Contemp. Math. (Kyungshang), 28 (2018), no. 1, 127-138.
- 14. J. Riordan, Combinatorial identities, New York: Wiley; 1968.
- 15. S. Roman, The Umbral Calculus, New York: Academic Press, 1984.
- Y. Simsek, Identities on the Changhee numbers and Apostol-type Daehee polynomials, Adv. Stud. Contemp. Math. (Kyungshang), 27 (2017), no. 2, 199-212.
- E.T. Whittaker, G.N. Watson, A Course of Modern Analysis, fourth ed., Cambridge University Press, Cambridge, 1963.
- 18. W.P. Zhang, Some identities involving the Euler and central factorial numbers, Fibonacci Quart. 36 (1998) 154-157.

Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

E-mail address: tkkim@kw.ac.kr